[(#HRHmRE IN 373 U—JHER]

=3 AT=0R st [1—2]3—4]1-3[2—4[1-4[2-3|
A Tuayy 1 2 3 4 | Pwst || JEA
61 56 62
fcﬁO%‘BJ’ 3 p 0 P 3 p
56 64 56 9 3
)N ZERL VNE S 53 0o P 3 P 0 p
1 HARZFET 2 A Pt 3 Pt 3 |pPit 3
16 56 26
BB ~F 22019 | o S O
= 65 26 46 3 4
/NEIRG H&E LT 3 O P O P
AR PEXO&H  |PEE 3 Pt O |PEt O
— 65 65 64
E+183rd 3 3 p 3 p
| 46 | 62 36 12 9
AR bz 0 3 P 0O P
R 32 H bl Fr R A Pt 3 PEl 6 Pl 3
~ 26 62 46
<EHAZ0OO 0 3 p| 0 v
65 64 63 12 1
TNEEAE 1 KA 3 3 P 3 P
R E 1 PochZE+ Pt 3 PRt 6 PRt 3
Bs=3 5 AF=04 paf:id ] 1—2|1—-3|2-3
B 7uay/ 5 6 7 Piadt | NRAL
pexz 1 62 1 60
77— 60 | 60 | 12 | 1
TRFT s 3 p| 3 b
2 RAHRE | MABT Pit 6 [Pir 6
% 26 36
<y 0 0
— 06 26 0 3
I ARBFAFSERE - AN 0 0 P
e HERZR REER PR 0O P O
E 06 | 63
373 0 3 p
06 62 6 9
o5 SR 26 A HHT 0 3 P
T HR Rl T nEETa PRt O |PEF 6




BE=3R A0 tEkIE [T 21 3[2 3]
C 7uvwy 8 9 | 10 | pest |
64 61
SMK2 3 P 3 P
8 62 60 | 12 1
KARET EAINIESES 3 P 3 P
3 B KIS EalEIE R Pt 6 |PEt 6
46 62
= KA NV—2 0 3 »
9 26 64 6 2
= R tRET 0 3 p
| TR T- N7 =TI Pit 6
~ 16 26
7{% 0 0O P
10 06 46 0 3
A T INGEE 0 0 r
A= IAEZZE |PEF 0 |PRt O
=35 AlF=0% X B IE 1—2[1—-3[2—3
D 7uay/ 11 | 12 | 13 | pest | &
THEH s
11 HIRDEL 16 60 3 2
FERELF B X THE 0O P 3 P
4 EARFF T ANIINEES P 0 PR 3
63 63
= SLIKEE | 3 v
- 12 61 61 12 1
FRELT T 3 3 p
I FREH 1 KOKET  |PEE 6 Pi 6
~ 65 36
HEI—)V 3 0 b
13 06 16 3 3
g FH it 1 P B 7 0 O P
@ARnT | Efr [pat 3 [Pt o




B=3R  AIT=08 sigiE [1—of1—3[2—3]
E 7uavy/ 14 | 15 | 16 | pest | JE
26 16
j—ut)( 0O p 0O p
14 06 56 0 3
T ] 7 0O P 0 P
5 VeRbr T | e Pit 0 [pat 0
% . 62 60
FRISIRNE 3 3 v
=1 |15 60 62 | 12 1
I ZHHFET HHELT 3 p 3
[AZNTEES gnAIEE PR 6 PEt 6
~ Jr—— 61 | 06
SN 3 P 0O p
16 BT 65 | 26 6 2
fhHE— 5 (L f Al 3 P O vp
AR 2l 3= PRk 6 [PAt O
=38 AiT=>0R xt BB 1—2[3—4|1—3[2—4]1-4]2-3
F 7uay/ 17 | 18 | 19 | 20 | pest | e
16 26 06
8E8E| o p O p O P
17 06 06 06 0 4
A& R AT 0 P 0O P 0O P
6 [ERCZ NN LT Pl O |PEk O [PEF O
61 63 63
Fo7ZDF—A 3 P 3 p| 3 p
&+ |18 60 63 | 26 15 1
AREET KIEFRN 3 P 3 P O P
RKIAT RMpEE  |PE 6 P 6 |Pit 3
— 62 36 63
F—bWwUS—r | 3 | o v 3 P
| |19 60 | 36 26 9 3
FrEAED BN 3 P 0O P o P
= 0 A RMEy  |Pit 6 |Pat O Pif 3
I‘ 60 36 36
HH IR 3 p| o p| o0 @
20 60 62 62 12 9
HATT (AR ERE 3 P 3 P 3 P
SRESEENEEES mET  |Ppsk 6 [P 3 |PRb 3




( 16b—F A2k )

(10 RAUb2A4TL—2)

HNERIE ¥ L FEELT
SEBA  Anie SLZ E%ﬁfm
=R T )
Z00 CENES To—g RE#E QR
9—11
Cohlth 10-3
+EfT 10-8 RHFET
BEELIE  pemrer o g BREELT
77‘:])‘— KAakE 10-5 o WA S
/ML 10-7 SIARTEE
o 11-9
%@} YAET -3 BREET
BILEE Fo7D KREFRR
SMK2  gxx7 708 F— 2 KBTS
HEETH 10-12 IR 3E
Cohlti
{ 26ib—F A2k )
— 3413+ —
BAREET ® L. JHBLT
BB dieex SNILE BTH
3rd A3 10-4 JRIEAZE ﬁp?kfi%
FEIR N 10-5 ANIIPES
10-4
10-6 13-11
s 10-6 e
Eﬁé;@ INF—F Eﬁmﬁea
373 iy BSJN TRE T
INRET Bl g
@} oS
5‘ - JRHELZSE 3-10 2 Ao AT
KA iﬁ;ijt% Cahlth HAHL E—iﬁﬁ%
— SN Oy 7-10 T
Th=Y b ERHR T 10-4 ﬁﬁ fif] & 7T
Cohlth
{ 3fr/46h—F A2k )
— 56 1—F —
PEIE=57 ﬁ???
IR A5 S SaE
IROEL D PP = ml 13-11 HEI—N A BT
EZgiih v 10-3 10-8 AN v
10-4
)l T 10—12' 10-3 T
5 A+ CeAlTA 9-11 W -
8H8H  wipina Cohlth AVEA gy
o e SRR
A B SR 7Nk B 1
N Z HERSE~Z A HEIET
~Any g%gﬁ? " 2%19 LI
KFEFER X O A
10-4 R
i EF 10-6 %@} ERHEY
NeEE F—Lk Eanmz
3555 tiAEF 14-12 10-5 )y )—kih =EBEHE
WAREHR 10-6 10-2 EitlEF




